TDS - er,gc,i.ccz;

P&])J:vp At e TD L
—}A;WI:;._L'M: |

éxz @Wu R

NS

_].Ju: : n{ ts}' }ua/t Jl’ ac.lﬂw/u /t.{ Tm“w(,(

D= (g/\‘?) D :(“ k>m
DAing - & A edl ol-a »L/z

D=T4T, D Jagmﬂ
um{[.»‘é




QA TLboLL A= +pT ZB
slns A~ (FoF ) (FDP ). - [FDF)
L — —~ D
ufru’

_ Z;.Dk?_id
—D:a-ﬂnm.’&su.’—allélt/ -. c'7luwIt /lt.( e_Torr_(
U

/);»a&mes .
wm/ ;(u m{ms m,vcu c praahls

t'—) _ ~-Y 3
" ’4{)()‘/-/» £-X

o TX) [(B=X)+ 42
— 40y TX-EXeY3kD

XZ_ X +2
(X-D (X-2)

1



DMX \npﬂ W“’ d’,{;)fuc,t.g :
>‘A= 1 ) >\2_=2 .

MaL;cc LM;J& T\M';?M
é’- W—&"'M /'\7/“’3 w7L Siwxrlff-
Mfﬁj dts téect, WM K
il
b (A-T,) = k[ 3)-Vd[2)

_ly 3

ka (A_z_T_Z)z L., {-;L 3>=Vu+(;‘:)

-1y €
£J- ]u-»a\ﬂl P (Z ;) )
e "‘*L"“* ’D=—'F-1A7> Jl?m&
10

__[02 |

\/i\é}(co.'km.' FDe AT
N y

\ /a1 s )



= [ 4 3-2“) ;'-3)
(?- 327 /|- 4
= :”6‘2“ -3-)-3.?_“
(1‘1-1‘12" -g.n.?.zh
. -y 3
: [ , .
@V\Nﬁ g Sl'.WUL MLML 4 " 11'} 797 mllnaTA



Lh TW ijjb\ ges T\Jsmaﬁ ,4“
S uJ\Lst Qﬂ JﬁW’rBkaw d.(’bm](he{




